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Mathematics 306/326
REVIEW §

m The adjacent right pyramid has a square basc with sidc 8

cm. Height ADis 12 cm.
An ant sits at poiat F midway between A and B. Bait
F

has been put at C.
1f the ant takes path FBC to get to the bait, what

distanice must it cover?
B

Sem

Give your answer to the ncarcst centimetre.

Work

cim,

Result: The ant must cover a distance of

It takes 776 m® of building material to cover the exterior surface of an airplanc liangar completely. The hangar has two
identical openings, ane at each end. Each gable above the opening is 6 metres high, The dimensions of the hangar are

shown below.

16 m

What is the height h of cach opening of this banga?

Work
Result The height of the openings is
A box, in the shape of a squarc-based prism topped by a
right pyramid, has a volume of 728 cn’, Its dimensions AW
arc indicated on the figure to the right. 1" Y
? y
What is the total height of this box? H Y 8.6cm
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Work
The total height of the box is cm.

( Answer :
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E(tcndcd answer

|
2 0231 Extended answer
3 0254 Extended answer
4 0263 Extended answer
5 0303 Extended answer
6 0362 Extended answer
7 0369 Extended answer
8 0407 Extended answer
9 0410 Extended answer
10 0473 Exteaded answer
11 0501 Extended answer
12 0597 Extended answer
3 2068 Extended answer

2- Correction key

Work : (examplc)

» Length of BD and tﬁ

m 66 =4

« Length of E)_B

Since ABOD is aright triangle

m OB =+/(m ODY’ + (m BD)’

T8k

mOB=+/4*+4 =432
mOB=4+/32 ~5.66

« Length of AB
Since AAOB is a right triangle

m AB =+/(m AO)* + (m OB)’

mAB =122+ (32
m AB=+/176 =13.27
» Length of FB

» Length of path FBC

Length of FBC = m FB +m BC
~ 6.63+8=14.63

Result The ant must cover a distance of [4.63 cm.

Work : (example)

Arca of the roof
(10 % 20) x 2 =400 m®

Area of the gables

MXZ:'?sz

Area of the sides = Total surface arca — 400 — 96
776 — 400 — 96 =280

Height h of the openings
2(20 x i) = 280

280
h= "
40
=17
Result The height of each opening is 7 metres.

Problem solvmg T

Problem solving
Problem sclving
Problem solving
Problem solving
Problem solving
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Probicm solving
Problem solving
Problem solving
Problem solving
Problem solving
Problem solving

Bcin C

Example of an appropriate solution
Height of pyramid ()

Iy = 8.6% - 6% =6.16

Volume of pyramid

V = A'b:lsc * hl
3

- 12%12x 6,16 —~ 295.68

Volume of prism
728 — 295.683 =432.32
Height of prism (/)
V= e = ha
432.32

12x12
=3
Height of box (I
h=h+h:
h=06.16+3
h=016
Answer The total height of the box is 9.16 co.
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